We care your clearer devices
with Spares & Services

TOP CLEARER Close Type TOP CLEARER Open Type

Spindraft




LTC 1502

m
o
(¥ ]
—
o)
—

TOP CLEARER ASSEMBLY SPARES

Drive Roll Assembly

R P e R e

Comb Hinge Lock Washer Driven Roll Assembly

LTC 1504
LTC 1508

A

Lock Washer
Bolt

Triangular
Connector

Driven Roll Assembly

M5 Washer M6 Bolt

LTC 1506
2
7




TOP CLEARER ASSEMBLY SPARES

Comb Stand Comb Blade Comb Blade
~ 45 mm 65 mm
ﬂ f 2
= - = — — = i <A ww&‘.‘,‘% -~

Front Tensioner Front Tensioner

LTC 1519
LTE 1523

M6 Washer Pawl’s Spring Bed Guide Cam Housing
7 >
= [ S & .
< :,@
(" : <@
Cam Assembly Cam Washer Button Big Button Small
= ~ = Ly
— — ™ L}
% v Z i ﬂ y
D - - @ - .

L




TOP CLEARER ASSEMBLY SPARES

Cover Tension Spring Ratchet Wheel Rivet Main Shaft
WO o <
o (23] m
LM [Fal g} -
— — —
@] (9] = /
Sy Ly r

1/2 Inch Bracket Pin Comb Hinge Rivet Connecting Rod Spring

LTC 1527
LTC 1531
SRS

—)

Clearer Cloth 340 X 40 Clearer Cloth 360 X 40

LTC 1528
LTC 1536

Drive Shaft Nylon Bearing Cloth Guide 55 mm Connecting Rod Assy. 175 L

LTC 1533
i
|
f
eSS

Wi o ik




LTC 1538

39

LTC 15

LTC 1540

—
A
=t
@)
=

TOP CLEARER ASSEMBLY SPARES

Drive Roll
Holder Bush

Piston Head

M 8 X 15 Bolt
=

T e

A

Drive Roll Holder

LTC 1544

L
=
L
—
[
Sy

Spring Encloser
Small

Spring Encloser
Big

Piston Sleeve Piston Main Shaft
5
i —
/ O \
'j .

End Collar 8mm Washer
()
» 3
e
Cam Cover Knob

Jpeilil

LTC 1553

Pawl's
(Small & Big)

Piston Spring
RO

5 mm Rivet

Coupling




TOP CLEARER ASSEMBLY SPARES

Chain Wheel (15T) Comb Hinge Spring

‘.

Nylon Switch Cover Inner Leg

Chain Wheel (22T)

LTC 1554
LTC 1558

Connecting Rod Tube

T —

ENE555
LTC 1559

Puller 135 mm

G

Bearing Cup Piston Bolt Spring Adjuster

R

Nylon Switch Cover Spring with Enclosure

LTC 1556
LTC 1560
LTC 1564

M~
L
(¥l
—
[
=

LTC 1561
LTC 1565




LTC 1566

LTC 1568

o
O
(M
—
()
=)

TOP CLEARER ASSEMBLY SPARES

Drive Roller
(Big)

Puller Lock

s

Front Tensioner
Rivet

/

LTC 1570

e 157l

LTC 1572

Ratchet
Wheel

M5 Bolt & Washer

Hinge Spring

-

Cloth Guide
40 mm

N

Top Clearer Open Type




BOTTOM CLEARER ASSEMBLY SPARES

Drive Roll Assembly

o

Pawl's Spring Cloth Tensioner

3 S5 S

E e ~ % ; : . i

o ¥ I N CH. .
("@ =} sm— | — — 4

Lock Washer Triangular Comb Stand Assembly

o Bolt ) Connector D

== ] o o

] L : N

W] " ia W] e @]

% WU = &2 va ] 5

Comb Stud Cam Connector

LBC 5001
LBC 5006




BOTTOM CLEARER ASSEMBLY SPARES

Front Guide Assembly for Texmaco Howa Fork Bush U Bearing

= <t =

(=] o =]

LN LN LN

@ @ @

— a 8 8 8 8§ &8 3 &

Front Guide Assembly Puller 50 mm L Fork Spring Split Pin

o~ w =]

— — (|

o o o

L [Fp} wn

U E %) O /
5] [xa] o

3 - 8 8 mees 8 8 = =

Bottom Tray M5 Bolt Front Guide

M e & Washer b Knob

o (=] o

[Fp] | LN LN

U —————————— | u - @] ‘

o b - = & o 4

— - & ) w
Clearer Cloth 300 X 40 Button. LH Button. RH

= o0 (|

— — o

o [==] o

N [Fp} wn

o [ [

= = =

— — o 0




BOTTOM CLEARER ASSEMBLY SPARES

Tension Weight Ratchet Wheel Rivet 5mm Rivet
[ag] ~ —
™~ ™~ (o]
T N\ -
= ; " » - - jr-"" o

Puller 50 mm

Front Guide Button

LBC 5024
LBC 5028

o
on
(=]
L
U
ch
|

Tension Fork Bottom Comb Hinge M6 Bolt
LN (23]

Comb Blade 45mm Puller 165 mm

30

S

LBC 5026
LBC 503
)

o
un
[
[wal
]




BOTTOM CLEARER ASSEMBLY SPARES

Drive Roll Comb Hinge Comb Hinge Pawl's

) Holder Bush % Spring Rivet 3 (Small & Big)
A R R

Button Oval Type Comb Adjuster Pawl’s Rivet Ratchet Holder
A o Bolt LN
S S Y S
L e} R
G 2 A 8

4 ;

Drive Roll Bottom

"

Ratchet Wheel Side Arm Stud 8mm Washer

LBC 5037

=
=
o
[Vl
(W]
(v
=

LBC 5046

We Also Provide Clearer Spares for Chinese, Zinser, Toyoda,
Texmaco Howa and Electrojet Machines.




sassane ol L
sEessssEERRERRSRRES

We Spin Draft introduce ourselves as the largest suppliers of spare parts for spinning
accessories across the globe to customers specifications.

We are in the textile field for the past two decades serving our customers in domestic and

international to their entire satisfaction.

Marketed by :

79, Sidco Industrial Estate (P.o), Kurichi, Coimbatore - 641 021. TamilNadu, INDIA.
Phone : +91 422 4517022, +91 422 4390478, +91 90039 17515, +91 98942 17517,
E-mail : spindraft@hotmailcom | Web. : www.spindraft.com
sales@laxmark.in | sales@spindraft.com

Print Vision

Py

4

"7 491 98940 99333




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

